2250 £A» RRAEZ A AP E P M — R,

PEARLI2A

A hias A SREFalk| R
£gh— B3 1A U3 15 E23. 18 2 73 1 T3 1N 3 1 (%) (22)
B 426 1,660,877
1% 455 (ANO) < R (KIX) 4 # (TPE) 1 7,623
2 |% %4255 (ANC) %4 % (CRK) 4 #* (TPE) 6 9,606
3 |% L 4isANO) #A ($9)(NRT) |44 (TPE) 4 7,707
4 |% %455 (ANO) (= )(ICN) |4 (TPE) # 2 (DEL) 12 (CGN) 1 18,179
5 |% w4255 (ANO) Hf (= ")) |44 (TPE) % % (HKG) % 5%.4255 (ANC) 1 16,557
6 |% %455 (ANO) % i (HKG) 4 #* (TPE) % #4295 (ANO) 6 16,515
7 |% w4205 (ANO) % % (HKG) 4 # (TPE) 5 8,939
8 % %455 (ANC) 4 #* (TPE) . 4 % (CRK) 6 8,616
9 & fais(ANO) 4 # (TPE) % % (HKG) 1 8,939
10 |% %4255 (ANC) 4 # (TPE) #74e 3 (SIN) 1 10,742
11 |# 2400 ANO) # 3 (PEN) 4 #* (TPE) 5 13,840
12 [% % 7500v6) % #4275 (ANC) LA ($9)NRD)  |F @ C=")N) |4+ (TPE) 1 13,252
13 |3 % 7930v6) % #4235 (ANO) B2 |4+ (TPE) 1 12,578
14 [% 2 750076) L (9 )NRD  |F g G=)AN) |42 (TPE) 3 13210
15 [%%7930006) %3 (289 )(NRT) |4+ (TPE) 2+ & (NGO) F RGN |# 3 70000) 1 26,483
16 |% % 783%(CVG) L4 ($9)(NRT) |4 (TPE) FREG=DOAN) |33 755006) 1 25,119
17 |3 2 7830CV6) %2 (28 )(NRT) 4 # (TPE) 1 12,703
18 |% % 783%(CVG) FEC="DCN) |42 (TPE) ¢+ & (NGO) T ACCRIDIC (0 ) I EE LY (0 () 4 26,195
19 | % 2 753k(CV6) FE (=) |4 (TPE) FREGEDAN) [ 78RCV6) 1 24,831
20 | % % 7%5(CVG) % f (=IO 4 # (TPE) 1 12,415
21 |# % 7v(CV0) SRz |42 (TPE) % #% (HKG) 3 3 7035 (CV6) 1 26,166
22 |% A (#9)RT) |4+ (TPE) 12 2,140
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425 45 HRFE ARG

TP A — Fe L (1)

3 F/12#
A Bk # Fnlipalk| AMI
gk — P T gz gk BT PRI P TR (%) (22)

93 |4 # (HKG) 4 # (TPE) < 12 (KIX) 1 2,524
o4 |4 # (HKG) 4 # (TPE) i (%1 )(NRT) 6 2,958
95 |4 % (HKG) £ # (TPE) % % (HKG) 14 2,005
96 |4 (TPE) b GF RO (PYG) 19 765
97 |4 4 (TPE) < 1 (KIX) % %455 (ANC) 5 4% (ORD) % 24255 (ANC) < R (KIX) 4 # (TPE) 3 U372
98 |4 # (TPE) R (KIX) 5 4: B (ORD) < 1 (KIX) 4 # (TPE) 2 24,338
29 |4+ (TPE) R (KT # 5 7 (0AK) § st MEN) 7 13312
30 |44 (TPE) 2+ 5 (NGO) % %4255 (ANC) 54 % (ORD) % %4255 (ANC) 4 # (TPE) 1 24,362
31 |4+ (TPE) 2+ £ (NGO) % 4255 (ANC) 542 B (ORD) % 2425 (ANC) 2+ £ (NGO) 4 # (TPE) 1 24,528
32 |4 (TPE) 2+ 5 (NGO) % 2 785 (CV6) 5 12,339
33 |4+ (TPE) ¢+ £ (NGO) 5 4 (ORD) ¢+ £ (NGO) 4 # (TPE) 3 2478
34 |4 (TPE) % 24295 (ANC) LR+ (ATL) % %4255 (ANC) R (KIX) £ (TPE) 4 26,186
35 |4 (TPE) % 2455 (ANC) T4 (ATL) % %4255 (ANC) 4 # (TPE) 2 26,024
36 |4 (TPE) % 3. 455 (ANC) B4 (ATL) & 7 1 (SEA) 4 # (TPE) 1 26,287
37 |4+ (TPE) % %4255 (ANC) T4 (ATL) e i (MIA) & 7 1 (SEA) 4 (TPE) 2 28118
38 |4 (TPE) % 3415 (ANC) 5 4c B (ORD) % %4255 (ANC) R (KIX) 4 # (TPE) 2 24231
39 |&(TPE) % 2455 (ANC) 5 4 (ORD) % %455 (ANC) 4 # (TPE) 4 24,196
40 |4+ (TPE) % 54255 (ANC) 5 4c § (ORD) & 7 I (SEA) 4 # (TPE) 2 24,648
a1 |4+ PR % 2455 (ANC) 5 4 (ORD) 4 # (TPE) 4 23,944
42 |42 (TPE) % %4255 (ANC) 5405 (LAY) & 7 I (SEA) 4 # (TPE) ] 2,571
43 |4 4 (TPE) % %455 (ANC) 5 (JFK) % %455 (ANC) £ # (TPE) 9 25,924
44 |4+ (TPE) % %425 (ANC) § 320t (EN) 6 12,583
45 |4 4 (TPE) % %455 (ANC) £ 4 44 (DFW) % %455 (ANC) £ # (TPE) 7 2,627
46 |4 2 (TPE) % %4245 (ANC) i 234 (DFW) & 7 I (SEA) 4 # (TPE) 1 24,637
47 |4 (TPE) % %455 (ANC) £ 4 44 (DFW) 154 L (SFO) % %4275 (ANC) £ (TPE) 1 25,326
48 |44 (TPE) Z % (BOM) mie grgE2 (NMS)  |# B (BOM) 4 # (TPE) 2 23726
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%25 4 FRME S AR F s — s (2)

PEARLI2A

A o # FRlirak| AMmism
- g = = g gk (22)
49 |4 # (TPE) F % (BOM) Fe 48 2542 (ANS) § % (# 5% )(BKK) [4£ # (TPE) 1 23,590
50 |4 # (TPE) ¥ (BOM) Jp & #(LUX) % (BOM) £ # (TPE) 1 23,436
51 |4 # (TPE) L % (2w )(NRT) i 127 (LAX) %2 (% )(NRT) 4 # (TPE) 1 21,858
52 |4 (TPE) % % (% )(NRT) 8 2,180
53 |4 4 (TPE) GESENSIERY) i #r3n #(IST) 1 8,414
54 |% 2 (TPE) % # (NKG) 4 1,241
55 |4 # (TPE) &4 (LAX) 4 B (KIX) 4 # (TPE) 1 21,904
56 |4 # (TPE) 75427 (LAX) %4 L (SFO) 4 2 (TPE) 3 21,845
57 |4 # (TPE) it 452 (LAX) 17 10,917
58 |4 # (TPE) it 427 (LAX) @ (MIA) & ¢ ] (SEA) 4 # (TPE) 3 28,836
59 |4 # (TPE) it 452 (LAX) @re g (MIA) & 452 (LAX) 4 # (TPE) 3 29,376
60 |% 2 (TPE) £ & (CKG) 6 1,737
61 |4 # (TPE) H B iz )N % 255 (ANC) & 452 (LAX) 1 11,346
62 |4 # (TPE) % # (HKG) % 54295 (ANC) 3 3 77035(CV6) 1 13,946
63 |4 # (TPE) % % (HKG) 46 806
64 |4 (TPE) § 2 (FF 5 %) (BKK) [im n (HAN) 4 2 (TPE) 1 5,139
65 |4 # (TPE) § 5 (g~ #)(BKK) [+ 2P+ (SGN) 4 # (TPE) 1 5,449
66 |4 # (TPE) § 5 (g5 )(BKK) 2 2,502
67 |+ # (TPE) § A (FR~pF)BKO s p(VIE) 1 10,948
68 |4 #* (TPE) § % (FR it ) (BKK) [#=Gr 85 A Me )OO | & 4 & (LUX) 3 12,427
69 |% 2 (TPE) F#(SZX) 17 908
70 |4 # (TPE) 7 e i (CGK) 1 # (PEN) 4 2 (TPE) 1 8,415
71 |4 # (TPE) 5 (XN 5 328
72 |4 # (TPE) #7401 (SIN) # I (HAN) 4 2 (TPE) 2 7,091
73 |4 # (TPE) #74e 3 (SIN) 5 R 42 (MNL) 4 # (TPE) 2 6,779
74 |4 # (TPE) 374 3 (SIN) 1 # (PEN) 4 2 (TPE) 3 6,973
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%25 4K FRME S AR F ) s — s (X3)

PEARLI2A

AR plie - SREAak| ML
R 13 E73 1 173 153 $73. 183 §73. 134 E13 128 R34 (x) (~2)
75 |4 # (TPE) #14e # (SIN) 10 3,230
76 |4 # (TPE) #74e (SIN) & (g~ )(BKK) |4 # (TPE) 2 7,161
77 |% # (TPE) Fr4v st (SIN) AP 8B L FEOOIO | & E(LUX) 1 14,918
78 |4 # (TPE) % (NGB) 10 933
79 |4 # (TPE) i (FOC) 10 796
80 |+ # (TPE) R -1 (CAN) 14 839
81 |[% 2 (TPE) 1.2 (DEL) Jg % E(LUX) #. 2 (DEL) 4 # (TPE) 2 21,350
82 |+ (TPE) 3= 41 (CGO) 1 1,266
83 |4 # (TPE) 1+ (PEN) @ i (HAN) % # (TPE) 1 6,652
84 |+ (TPE) i 5 (PEN) 10 3,241
85 |4 # (TPE) 1+ (PEN) § B (g~ )(BKK) | & # (TPE) 3 6,599
86 |4 # (TPE) # 3 (PEN) BE( 55 L WE)ODI0) | & F(LUX) #7438 (SIN) 4 # (TPE) 2 27,110
87 |4 # (TPE) 3 4B (ORD) 4 R (KIX) 4 # (TPE) 1 24,207
88 |+ (TPE) 74 (ORD) 8 11,986
89 |4 # (TPE) ¥4 & (ORD) &+ & (NGO) %+ # (TPE) 1 24,277
90 |4 # (TPE) = & (GYD) R & F(LUX) 2 11,973
91 |4 # (TPE) = & (GYD) A (MXP) 1 11,595
92 |4 # (TPE) 35 4 27 (FRU) i #ra #(IST) 2 8,417
93 |4 # (TPE) + 3 (KUL) 1 3% (PEN) % # (TPE) 2 6,637
94 | % (TPE) P (HAN) 4 1,654
95 |4 # (TPE) @ 1 (HAN) HAE(fP35 LB#OONC) |4 4 (TPE) 1 14,436
96 |4 # (TPE) BP9 5 LB )DVO) |72 f#F w45 (FRA) % (TPE) 2 20,818
97 |4 # (TPE) HEL(F 5 5 SR )(DNC) | FP 42 #7352 (AMS) & B (g~ )(BKK) |+ # (TPE) 1 23,515
98 |4 # (TPE) A3 8 L R#OONO | & F(LUX) 4 # (TPE) 1 21,160
99 |4+ (TPE) B3 B L FHOOIO | f & F(LUX) 1 13,206
100 |4 # (TPE) H#E(fe 3 5 5 Fl4 ) (DWC) 2 6,548
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425 K H RS A AT 2 S — R ()

¢EARIIZE

AR plie # SREAak| ML
RT3 T 13 13 3 Y $13.13 3 13 154 R 128 013 T (%) (22)
101 |4 # (TPE) B3 5 BN |3 #F (MXP) ) 12810
102 |4 # (TPE) = 23 #(IST) 2 8,412
103 |4 # (TPE) % & L (SFO) I F R+ (ATL) % & L (SFO) 4 # (TPE) 2 27,678
104 |4 # (TPE) Fe 255 40 (NQZ) Jh A B (LUX) | 195
105 |4 # (TPE) f 2755 4 (NQZ) i g3 i (IST) 1 8,513
106 |4 # (TPE) 41 7.4¢ (RUH) % i 548 (FRA) y 0
107 [ & E(LUX) fe v = 45 (ASB) £ 2 (TPE) , 11608
108 | & #(LUX) # § (i="1)(ICN) 4 7 (TPE) | 059
109 | & & (LUX) § % (F ™~ 3% )(BKK) [4 # (TPE) | 1673
110 |8 % #raf (SDF) 1§ f (= ")ACN) |42 (TPE) % % (HKG) % %4255 (ANC) | 22,503
1 &5 #EC=")AN)  |4 4 (TPE) % #4295 (ANO) %4228 (LAX) ! 24920
112 |5 48 (ORD) F b B2 (AMS) 4 7 (TPE) i (HAN) 3 % (HKG) % 2 4 7m (AN) 7 7 (ORD) 1 0
113 |Frss #745 = (AMS) 4 (TPE) i# ) (HAN) % #% (HKG) % 54255 (ANC) 5 4: B (ORD) 1 24.700
114 [#74: 5 (SIN) 4 # (TPE) % & (NGO) ] 5376
115 |4 fF (UXP) F (= ")(ICN) £ 7 (TPE) ] 12,062
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